
Name:

    

5-Digit by 1-Digit with Remainders

Example

76,5438
8 ×  9,000 - 72,000

4,543
8 ×  500

8 ×  60

8 ×  7

- 4,000

7 9,567

9,567r 7

Solve using partial quotients.

Add up the 
multipliers of the 
divisor to find 
the answer.

Find an easy multiple of the divisor 
and subtract from the dividend. 
Repeat until the number is less than 
the divisor or you reach zero.

multipliers

remainder

dividend

divisor

4 5 7 9 0 9

a.

c. d.

b.

e.
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45,6787

98,1233 78,1985

61,2344

57,3292

543
- 480

63
- 56

Partial Quotients Division



    

5-Digit by 1-Digit with Remainders

Solve using partial quotients.

4 5 7 9 0 9

a.

c. d.

b.

e.
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45,6787

98,1233 78,1985

61,2344

57,3292

Partial Quotients Division

4 × 10,000-40,000

15,308r 2

4 × 5,000-20,000

2

21,234

4 × 300

4 × 8

-1,200
1,234

-32
34

ANSWER KEY

Work will vary.

7 × 6,000-42,000

6,525r3

7 × 500

7 × 20

7 × 5

6,525

-3,500
3,678

3

-140
178

-35
38

15,308

2 × 20,000-40,000

28,664 r1

2 × 8,000-16,000

1

17,329

2 × 600

2 × 60

2 × 4

-1,200
1,329

-120
129

-8
9

28,664

5 × 10,000-50,000

15,639r3

5 × 5,000-25,000

3

28,198

5 × 600

5 × 30

5 × 9

-3,000
3,198

-150
198

-45
48

15,639

3 × 30,000-90,000

32,707r2

3 × 2,000-6,000
8,123

3 × 700

3 × 7

-2,100
2,123

-21
23

2 32,707


